19 @ x 2740 cable with swaged end
tightened to eliminate slack

| 4

S s

Anchor cable assembly (see detail)—

PLAN

1905

Wood breakaway

post (typ-) Anchor plate
(see detail) ==L
/,M it
e \
= \L\III [ "
. S s
2 ] z \~—./.-’/
BY ] VB (o~ L —]
416 ==
— TS 60 x 60 X 6 x 200 L
X 60 X 6 X

Soil pIate/

(typ.)

POST B

6

M16 x 250 bolt,
nut, and 2 washers

M16 x 200 bolts, nuts, and

2 washers (2 required per post)
Steel tube/

(typ.)
TYPE 5 ANCHOR POST A
ELEVATION

1960

Terminal end buffer

. (see detail)

M16 @ x 40 hex head bolt
and hex nut with plate washer
under bolt head and nut

19 cable clips
(6 required)

Std. 50 I.D. pipe sleeve
(60 O0.D.)

24 @ nut and washer

Bearing plate
(see detail)

M24 @

x 180 length

stud, threaded entire
length
. 50 130

10

}‘ .‘ 10 /19 @ cable to be swage connected
A

ANCHOR CABLE ASSEMBLY

. C_
L 40 — 30 [
19 @ (6 x 19) galvanized cable
Standard swaged fitting and stud

NOTES:

1. One M16 @ x 250 bolt with nut and washer is required per
curved W-beam steel tube and post.

2. Plate washers shall be used only where indicated.

250 O.D. steel schedule 40 pipe

19 @ hole

I

: Al TS 60 x 60 X 6 X 200
| H /

[

|_—— Anchor Cable Assembly

\EBOXGX 60

wl

M24 @ nut

SECTION B-B

All Dimensions are in mm unless otherwise specified.

INDIANA DEPARTMENT OF TRANSPORTATION

CURVED W-BEAM
GUARDRAIL SYSTEM

SETEMBER 2011

STANDARD DRAWING NO. 601-CWGS-04

\\\\\mm,,//

/s/ Richard L. VanCleave 09/01/11

DESIGN STANDARDS ENGINEER DATE
/s/ Mark_A. Miller 09/01/11
/ CHIEF HIGHWAY ENGINEER DATE

TR

DESIGN STANDARDS ENGINEER




